

गोंय विद्यापीठ

ताळगांव पठार, गोंच -४०३ २०६ फोन : +९१-८६६९६०९०४८



Goa University

Taleigao Plateau, Goa-403 206
Tel: +91-8669609048
Email: registrar@unigoa.ac.in

Website: www.unigoa.ac.in

(Accredited by NAAC)

GU/9/2025-2026/Engg. & Tech Div/ 206

Date: 31 /10 /2025

Notice Inviting Quotation

The Registrar on behalf of Goa University invites "Percentage rate quotation" from the eligible contractors registered with Goa State PWD as under:-

Sr. No.	Name of work	Estimate cost	Class of contractor	
1	Painting of Faculty Cabins and Lecture Halls in Faculty Building A & B		V & Above (Bldgs), Goa State PWD registration	

Terms and conditions:

- 2. The quotation must accompany E.M.D of **Rs.4928.00** in form of DD/DCR of schedule bank drawn in the favour of Registrar, Goa University, payable at Panaji. The EMD as above should be enclosed in separate cover and attached to the cover containing the quotation.
- **3.** Security deposit at the rate of 10% of the gross amount of the work done shall be deducted from the bills.
- **4.** Terms & conditions for execution of work as per CPWD form 6 & 7 shall be binding on the bidders.
- **5.** The period for completing the work is **30 days** to be reckoned from the 07^{th} day of issue of order.
- **6.** The quotation should be valid for 90 days for acceptance from the date of opening.
- **7.** The defects liability period of the work is 01 year from the date of completion of work. Security deposit will be released after the completion of defects liability period in terms of clause 17 of contract (CPWD FORM 7).

- 8. Quoted amount shall be exclusive of G.S.T and G.S.T as applicable shall be paid extra on total cost of the work done.
- **9.** Self-attested copy of valid PWD Registration Certificate, PAN card & GST Registration certificate should be enclosed with the quotation.
- 10. The right to accept or reject the quotation in the whole or in part is reserved by the Registrar Goa University.

Yours Faithfully,

Prof. Sunder N. Dhuri REGIŞTRAR

SCHEDULE

NAME OF WORK:- Painting of Faculty Cabins and Lecture Halls in Faculty Building A & B

SR NO	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
				In figures	
1	Removing dry or oil bound distemper by scrapping sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	875.39	SQM	22.00	19,258.58
2	Providing and applying white cement based putty of average thickness 1.00 mm of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	777.74	sQM	89.00	69,218.86
3	Applying one coat of cement primer of approved brand and manufacture on wall surface.	777.74	sqm	53.00	41,220.22
	*				-
4	Wall painting (two or more coats) with plastic emulsion paint of approved brand and manufacture on new work to give an even shade.	777.74	SQM	114.00	88,662.36
5	Painting three or more coats with acryllic exterior paint of approved brand and manufacture (Such as Dulex/ Asian Paints/ Sherwin Willians) including applying one coat of cement primer and one coat of surface treatment etc. complete.	97.65	SQM	208.00	20,311.20
					-
6	Painting two or more coats (excluding priming coat) with superior quality ready mixed paint for steel work of approved brand & manufacture in all shades on new work to give an even shade.	26.72	SQM	107.00	2,859.04

			Total Am	ount (Rs.)	2,46,420.50
7	Painting one or more coats with superior quality ready mixed paint of wood work of approved brand & manufacture in all shades on old work to give an even shade.	67.92	SQM	72.00	4,890.24

hereby agree to execute the work at	% (ABOVE/BELOW/AT PAR) with the estimated cost.
Quoted Percentage in words	percent (ABOVE/BELOW/AT PAR) with the estimated cost.

EXECUTIVE ENGINEER
GOA UNIVERSITY